Ch. 1 packet answers
Day 1:

1. (a)y=2x or y—3=g(x—2)
(b) x =-2
() y+5=-1(x—4)
dy—2=3(x+2)
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D

() D: (=o0,00) R: (—0,4]

(b) D: [1,0) R: [2,)

(c) D: (-0,2) U(2,0) R: (—0,0) U (0, )
(d) D: (=o0,0) R: [=3,00)

o vk wNnN

7. B

8. E

9. (a) neither
(b) even
(c) odd

10. False f(—x) # f(x)
11. True f(—x)= —f(x)
12. (@) D: (—,©) R: [2,)

(b) D: (—o0,1) U(1,0) R: (—1,0)

X, OSx<1}

13. f(x)={_x+2’ l=veg D02 Ri[01]

1
-x, —2<x<0

2
14. f(x) = {—ZX +2, 0<x< 1} D: [—2, 3] R: [—1, 2)
-1, 1<x<3



Ch. 1 packet Day?2

_5
2(x+2)

1. (a)

7-9m
m-—9

(b)

3x+y
(C) x+y

nn+7)
n+5

(d)

2. (a) x=8x=-4

(b) x ==

3. (a) No; does not pass horizontal line test
(b) Yes; passes both the horizontal and vertical line test

D
(a) f71(0) = +Vx —1
(b) fi(x)= 28

x—1




Ch.1
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10.
11.

12.

13.

packet Day 3

0O @ > > 0

B

t=21.972

(a) D: (1, 0)
(b) R: (=00, )
(c) x =2.948

y=2xe*+1

t =11.090 yrs.

(a) 100 bacteria

(b) 6394.351 bacteria

(c) 1.000 hours

(d) t = 1,585 hrs.
Ino.5

(a) A=6.6e 12 °

(b) t = 38.115 days

e



Ch. 1 packet Day4

1. (a) sinez% csc@:%
cos @ =_1—175 sec@:_1—157
tan 6 =38 cot@ =1—5

15 8
(b) sinez% csch = —/2
cos@z\/iE secd =2
tanfg =—1 cotd =—-1
(c) sinf =— cscl = —
V53
cos@z% sec9=%§
tan @ :_—7 cot =—=
2 7
9
2. tan @ = \/’E

3. (a) x =8.629 and 10.220
(b) x = T and Z
6 6
(c) no solution
4. (a) even
(b) odd
(c) odd
(d) odd

5. (a) A: 2 Per: zE ph.sh. _Tn v.sh. 3 D: (—o0,0) R: [1,5]
(b) A: none  Per: g ph.sh. _Tn v.sh. 2 D: xqt%k R: (—0,0)

6. (a) A: 2 Per: 23—" ph.sh. none  Equation: y = 2cos(3x)
(b)(@) A: 5 Per: 4m ph.sh. ®m  Equation: y = 5COS(%X—§)

7. False; period =4m



8. False Amp =%
9.a

10.d

11.b

12.e



Review Ch. 1

1. (@Qy—6=—-2(x+3) or y+2=-2(x—-1)

(b)y+3=="(x+2)
©y+2=2(x—4)

2. (@m=-1
(b) y—1=-1(x+2)
© y-1=x+2)
(d) (2,0)

2. (a) neither f(x) # f(—x) = —f(x)
(b) odd f(—x) = —f(x)

3. D: [-2,2] R:[-1,1]

%x, 0<x<?2
4. f(x) =14 _s
Zx+10, 2<x<4

5. (a) (b)

6 (a) even

—2b%-3b-2
6(b+1)

9.(a) t = 90 min.

(b) A = 4,096,000 cells

(b) odd

——




10. x = —6.931

11. (a) (2, )

12.

13.

14.

(b) (00, )

(c) x = 4.718

(d) y=2+el™>

(e) show that f(f™1(x)) =f*(f(x)) =x
sinf = % cosf = % tanf = %
(a) x =6.082 and x = 3.343

(b) x =—=.201 + 2k and x = 3.343 + 2nk
(@) A=3 p=m ps=none vs=1

(b) graph

(c) D:(—o0,0) R: [-2,4]

3

secl = cotl =

cscl =

(d) even f(=x)= f(x)

() x =2.526



